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BACHELOR OF EDUCATION (B. Ed.) 

Term-End Examination 

December, 2019 

ES-343 : TEACHING OP SOCIAL STUDIES 

Time : 3 Hours 	Maximum Weightage : 70% 

Note :All questions are compulsory. All questions 

carry equal weightage. 

1. Answer the following question in about 

600 words : 

Which type of 'model' is suitable for economic 

development -for solving our problems, 

Gandhian or the Western Model ? Discuss. 

Or 

Fast industrialisation and rapid rise of 

population in India would create situations 

which will be counter productive to conserve 

our natural resources. Discuss. 
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2. Answer the following question in about 

600 words : 

Locate the latitude and longitude of the Indian 

sub-continent. What are the implications of this 

geographical positions in terms of heath care ? 

Or 

What are different non-cognitive learning 

outcomes ? Discuss the procedures to evaluate 

them. 

3. Answer any four of the following questions in 

about 150 words each : 

(a) What are the different types of Indian 

roads 7 How will you introduce this concept 

in your class ? 

(b) Which method/s will you use to teach main 

features of modernisation of Indian 

Railways and why ? 

(c) Differentiate between Bio-degradable and 

Bio-non-degradable substances in the 

environment. Which instructional media 

will you use to teach and why ? 
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(d) How will you teach growth of Indian 

eduCation and its impact during British 

rule ? 

(e) Discuss various values that can be 

developed among students through 

teaching of Social Studies. 

(f) Discuss various approaches to organisation 

• 	 of social studies curriculum at secondary 

level. 

4. Answer the following question in about 

600 words : 

Select a topic of your choice from social studies 

from secondary class and prepare a detailed 

lesson plin to teach the topic. 

P. T. O. 
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